

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

RESPONSE DEADLINE: June 3, 2024 at 10:00 am

SELECTED VENDOR TOTALS

Vendor	Total
DB Civil Construction, LLC	\$2,259,340.00
Midsouth Inc.	\$2,754,132.39
Carr & Collier Inc.	\$2,872,700.00
Ferreira Construction Co, Inc.	\$3,240,420.50

PART A: MOBILIZATION & DEMOBILIZATION

Part A: Mobilization & Demobilization					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co, Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	Mobilization & Demobilization	1	LS	\$261,000.00	\$261,000.00	\$183,390.00	\$183,390.00	\$534,943.00	\$534,943.00	\$152,000.00	\$152,000.00
Total						\$261,000.00		\$183,390.00		\$534,943.00		\$152,000.00

EVALUATION TABULATION

Invitation to Bid - Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

Page 1 of 10

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

PART B: CONSTRUCTION SURVEY, AS-BUILTS, PRE/POST AUDIO/VIDEO RECORDING AND INSURANCE/PERMITS/BONDS

Part B: Construction Survey, As-Builts, Pre/Post Audio/Video Recording and Insurance/Permits/Bonds					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co, Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	2	Construction Survey and Layout	1	LS	\$10,100.00	\$10,100.00	\$25,000.00	\$25,000.00	\$36,167.00	\$36,167.00	\$38,610.00	\$38,610.00
X	3	As-Built Drawings	1	LS	\$9,160.00	\$9,160.00	\$4,000.00	\$4,000.00	\$36,167.00	\$36,167.00	\$17,550.00	\$17,550.00
X	4	Pre/Post Audio-Video Recording	1	LS	\$2,265.00	\$2,265.00	\$3,015.00	\$3,015.00	\$14,375.00	\$14,375.00	\$1,550.00	\$1,550.00
X	5	Insurance, Permits, & Performance and Payment Bond	1	LS	\$40,000.00	\$40,000.00	\$22,000.00	\$22,000.00	\$30,000.00	\$30,000.00	\$31,990.00	\$31,990.00
Total					\$61,525.00		\$54,015.00		\$116,709.00		\$89,700.00	

EVALUATION TABULATION

Invitation to Bid - Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

Page 2 of 10

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

PART C: GOPHER TORTOISE MANAGEMENT

Part C: Gopher Tortoise Management					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co, Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	6	Gopher Tortoise Survey and Permitting	1	LS	\$2,950.00	\$2,950.00	\$4,000.00	\$4,000.00	\$1,500.00	\$1,500.00	\$2,920.00	\$2,920.00
X	7	Gopher Tortoise Burrow Exploration	10	EA	\$855.00	\$8,550.00	\$550.00	\$5,500.00	\$3,500.00	\$35,000.00	\$845.00	\$8,450.00
X	8	Gopher Tortoise Relocation	5	EA	\$7,880.00	\$39,400.00	\$6,500.00	\$32,500.00	\$500.00	\$2,500.00	\$7,800.00	\$39,000.00
X	9	Gopher Tortoise Burrow Monitoring During Construction	5	EA	\$855.00	\$4,275.00	\$1,600.00	\$8,000.00	\$50.00	\$250.00	\$846.00	\$4,230.00
Total					\$55,175.00		\$50,000.00		\$39,250.00		\$54,600.00	

PART D: MAINTENANCE OF TRAFFIC

Part D: Maintenance of Traffic					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co, Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	10	Maintenance of Traffic	1	LS	\$54,585.00	\$54,585.00	\$70,000.00	\$70,000.00	\$33,311.00	\$33,311.00	\$38,510.00	\$38,510.00
Total					\$54,585.00		\$70,000.00		\$33,311.00		\$38,510.00	

EVALUATION TABULATION

Invitation to Bid - Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

PART E: FORCE MAIN CONSTRUCTION

Part E: Force Main Construction					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co., Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	11	4" C900 DR18 PVC	10	LF	\$91.00	\$910.00	\$175.00	\$1,750.00	\$450.00	\$4,500.00	\$400.70	\$4,007.00
X	12	6" C900 DR18 PVC	75	LF	\$96.00	\$7,200.00	\$180.00	\$13,500.00	\$250.00	\$18,750.00	\$340.00	\$25,500.00
X	13	12" C900 DR18 PVC	3600	LF	\$206.50	\$743,400.00	\$108.00	\$388,800.00	\$135.00	\$486,000.00	\$131.30	\$472,680.00
X	14	12" C900 DR18 Restrained Joint Integral Bell (RJIB) Certa-Lok PVC (Open-Cut STA 134+90 to STA 136+23)	135	LF	\$186.00	\$25,110.00	\$180.00	\$24,300.00	\$305.00	\$41,175.00	\$179.20	\$24,192.00
X	15	12" C900 DR18 RJIB Certa-Lok PVC (Horizontal Directional Drill)	205	LF	\$403.00	\$82,615.00	\$220.00	\$45,100.00	\$219.00	\$44,895.00	\$192.80	\$39,524.00
Total					\$859,235.00		\$473,450.00		\$595,320.00		\$565,903.00	

EVALUATION TABULATION

Invitation to Bid - Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

PART F: DUCTILE IRON MECHANICAL JOINTS (MJ) FITTINGS & APPURTENANCES

Part F: Ductile Iron Mechanical Joints (MJ) Fittings & Appurtenances					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co., Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	16	6" MJ 45 Deg. Bend	4	EA	\$1,150.00	\$4,600.00	\$1,700.00	\$6,800.00	\$500.00	\$2,000.00	\$968.80	\$3,875.20
X	17	12" Plug	1	EA	\$1,500.00	\$1,500.00	\$1,800.00	\$1,800.00	\$1,200.00	\$1,200.00	\$2,069.60	\$2,069.60
X	18	12" MJ 11.25 Deg. Bend	2	EA	\$2,120.00	\$4,240.00	\$2,600.00	\$5,200.00	\$1,300.00	\$2,600.00	\$2,270.00	\$4,540.00
X	19	12" MJ 45 Deg. Bend	11	EA	\$2,250.00	\$24,750.00	\$2,700.00	\$29,700.00	\$1,538.00	\$16,918.00	\$2,630.00	\$28,930.00
X	20	12" MJ WYE	1	EA	\$4,180.00	\$4,180.00	\$5,000.00	\$5,000.00	\$3,133.00	\$3,133.00	\$4,850.00	\$4,850.00
X	21	12" MJ Resilient Seat Gate Valve Assembly	4	EA	\$6,270.00	\$25,080.00	\$6,500.00	\$26,000.00	\$4,270.00	\$17,080.00	\$6,730.00	\$26,920.00
X	22	In-Line Combination Air/ Vacuum Release Valve and Manhole Assembly	1	EA	\$21,360.00	\$21,360.00	\$20,500.00	\$20,500.00	\$4,562.00	\$4,562.00	\$26,700.00	\$26,700.00
Total						\$85,710.00		\$95,000.00		\$47,493.00		\$97,884.80

EVALUATION TABULATION

Invitation to Bid - Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

PART G: FORCE MAIN CONNECTIONS

Part G: Force Main Connections					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co, Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	23	Connection between Proposed 12" FM to Existing 4" FM @ STA 105+63	1	LS	\$12,440.00	\$12,440.00	\$10,500.00	\$10,500.00	\$5,000.00	\$5,000.00	\$19,359.49	\$19,359.49
X	24	Connection between Proposed 12" FM to Existing 4" FM @ STA 130+20	1	LS	\$11,740.00	\$11,740.00	\$9,500.00	\$9,500.00	\$4,500.00	\$4,500.00	\$17,310.50	\$17,310.50
X	25	Connection between Proposed 12" FM to Existing 6" FM	1	LS	\$12,500.00	\$12,500.00	\$11,000.00	\$11,000.00	\$9,199.00	\$9,199.00	\$17,940.00	\$17,940.00
Total					\$36,680.00		\$31,000.00		\$18,699.00		\$54,609.99	

EVALUATION TABULATION

Invitation to Bid - Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

Page 6 of 10

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

PART H: FORCE MAIN REMOVAL/DISPOSAL AND ABANDONMENT

Part H: Force Main Removal/Disposal and Abandonment					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co, Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	26	Abandon and Grout Fill 4" PVC Pipe	45	LF	\$45.00	\$2,025.00	\$8.00	\$360.00	\$100.00	\$4,500.00	\$81.80	\$3,681.00
X	27	Abandon and Grout Fill 6" PVC Pipe	3700	LF	\$7.50	\$27,750.00	\$8.50	\$31,450.00	\$16.21	\$59,977.00	\$8.20	\$30,340.00
Total					\$29,775.00		\$31,810.00		\$64,477.00		\$34,021.00	

EVALUATION TABULATION

Invitation to Bid - Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

Page 7 of 10

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

PART I: LIFT STATION AND DRAINAGE RETENTION AREA

Part I: Lift Station and Drainage Retention Area					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co, Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	28	Site Excavation	1600	CY	\$1.00	\$1,600.00	\$12.00	\$19,200.00	\$21.37	\$34,192.00	\$36.50	\$58,400.00
X	29	Site Grading & Fill	1475	CY	\$2.00	\$2,950.00	\$26.00	\$38,350.00	\$37.50	\$55,312.50	\$17.10	\$25,222.50
X	30	Furnish and Install Flygt Model NP3171HT3 Submersible Pumps	2	EA	\$90,000.00	\$180,000.00	\$185,000.00	\$370,000.00	\$75,000.00	\$150,000.00	\$67,411.50	\$134,823.00
X	31	Install Lift Station, Complete	1	LS	\$747,000.00	\$747,000.00	\$410,000.00	\$410,000.00	\$1,200,000.00	\$1,200,000.00	\$671,525.10	\$671,525.10
X	32	Relocate Electric Generator	1	LS	\$1,500.00	\$1,500.00	\$16,000.00	\$16,000.00	\$7,500.00	\$7,500.00	\$19,449.30	\$19,449.30
X	33	Existing Pump Station Demolition	1	LS	\$196,000.00	\$196,000.00	\$65,000.00	\$65,000.00	\$15,000.00	\$15,000.00	\$34,424.30	\$34,424.30
X	34	Sodding	1	LS	\$50,300.00	\$50,300.00	\$40,000.00	\$40,000.00	\$25,000.00	\$25,000.00	\$59,052.50	\$59,052.50
Total						\$1,179,350.00		\$958,550.00		\$1,487,004.50		\$1,002,896.70

EVALUATION TABULATION

Invitation to Bid - Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

PART J: ASPHALT AND CONCRETE RESTORATION

Part J: Asphalt and Concrete Restoration					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co, Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	35	Asphalt Access Drive Open-Cut and Restoration	1100	SY	\$78.50	\$86,350.00	\$100.00	\$110,000.00	\$104.54	\$114,994.00	\$277.20	\$304,920.00
X	36	Concrete Access Drive Open-Cut and Restoration	125	SY	\$178.00	\$22,250.00	\$135.00	\$16,875.00	\$210.00	\$26,250.00	\$101.30	\$12,662.50
X	37	Paved Roadway Open-Cut and Restoration	900	SY	\$115.00	\$103,500.00	\$150.00	\$135,000.00	\$150.80	\$135,720.00	\$280.60	\$252,540.00
X	38	Sidewalk Restoration	15	SY	\$180.00	\$2,700.00	\$120.00	\$1,800.00	\$125.00	\$1,875.00	\$645.30	\$9,679.50
Total						\$214,800.00		\$263,675.00		\$278,839.00		\$579,802.00

EVALUATION TABULATION

Invitation to Bid - Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

Page 9 of 10

EVALUATION TABULATION

ITB No. 24-C00715/JG

Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

PART K: MISCELLANEOUS

Part K: Miscellaneous					Carr & Collier Inc.		DB Civil Construction, LLC		Ferreira Construction Co, Inc.		Midsouth Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	39	Unsuitable Material Removal Allowance	30	CY	\$34.50	\$1,035.00	\$50.00	\$1,500.00	\$275.00	\$8,250.00	\$319.80	\$9,594.00
X	40	Select Fill Import Allowance	35	CY	\$50.00	\$1,750.00	\$50.00	\$1,750.00	\$255.00	\$8,925.00	\$127.10	\$4,448.50
X	41	Pipe Bedding Crushed Stone Allowance	10	CY	\$330.00	\$3,300.00	\$100.00	\$1,000.00	\$85.00	\$850.00	\$202.20	\$2,022.00
X	42	Water Main Bell Restraints Allowance	10	EA	\$778.00	\$7,780.00	\$500.00	\$5,000.00	\$320.00	\$3,200.00	\$2,499.80	\$24,998.00
X	43	Sanitary Sewer Lateral Replacement	14	EA	\$1,500.00	\$21,000.00	\$2,800.00	\$39,200.00	\$225.00	\$3,150.00	\$3,081.60	\$43,142.40
Total						\$34,865.00		\$48,450.00		\$24,375.00		\$84,204.90

Alisa Pike

Alisa Pike Procurement Coordinator

EVALUATION TABULATION

Invitation to Bid - Decommission, Relocation and Reconstruction of Chalmer St Lift Station and Force Main Install

Page 10 of 10